Name: Date:
PC: Solving Quadratic Trig Equations Ms. Loughran

Examples:

1. For 0°< 0 <360°, solve: cos® @ =cosé

2. For 0°< 6 <360°, solve: 2cos’@+7cos@—-4=0

3. For 0°<6<360°, solve: sin*@—1=0



4. For 0<x<2rx,solve: csc’ x—cscx+3=5

5. To the nearest degree, solve for @ in the interval 0°< 8 <360°:
sin*@-4sinf@+2=0

6. To the nearest degree, solve for x in the interval 0° < x <360°:
sinx—3=—— (Note: sinx# 0).
sin x



Exercises 1-5: Solve for exact values of 8 in the in-
terval 0° = 8 = 360°.

1 3tan’0-2=1

2 5cos’ 0 —1=3(1 — cos’ )
3 sinf—2sin0=3

4 csc8-1=3

5 2cos’ 6= cos 0

Exercises 6-10: Solve for exact values of 6 in the
interval 0 = ¢ < 2.

6 2cos’0=cosf+1
7 tanf(tanf+ 1) =tan 6+ 3
8 2sec’ 0= 3secd+2

1
9 cosf = . (cos 8 # Q)

os 6’
10 sin@ = \/si?ﬂ_
Exercises 11-16: Solve for 3 to the nearest tenth of a
degree in the interval 0° =< 8 = 360°.

11 5tan’ B+ 3tan B =2

12 sec’B=6sec B+ 7

13 3sin’ B+ sin B+ 5 = 4(1 — sin B)

14 6cos’ B+ 6cos B+ 2 =1+ cos B

15 3(1 —sin’B) =sin B

16 3tan’B —5tan 8 =2

17 Find m4B in the interval 180° = B = 270°
that satisfies the equation 2sin® B = ésin B.

18 In the interval 90° = x = 180°, find the value
of x that satisfies the equation 2cos’ x = 1.

19 If-%ls @ =< 241, solve for 0. 3tan* 0+ 2 =3

Exercises 20-27: Select the numeral preceding the

choice that best com
pletes the statement -
swers the question. o

20 What is the to;al number of solutions for the
equation 3sin‘x + siny =2 j i
oo o i n the interval

(1) 1
2) 2
(3) 3
(4) 4

Exercises

21 The number of degrees in the smallest
positive angle that satisfies the equation
2cos’x — 3cos x = 2 is

(1) 30
@) 60
(3) 120
@) 210

22 Which of the following is not a solution of the

equation tan® B = 3?

m

(1) -y 3) _56i
(2) %’T— (4) 120°

23 Which equation has roots of 0 and #?

(1) sinx-1=0
(2) cos’x—1=0
(3) cos’x+cosx =0
(4) cos’x+cosx =2
24 Which third-quadrant angle satisfies the
equation 2cos® x — cos x = 1?

1 o
@ 5
® =
W =

25 How many solutions does the equation
5sin®x =1 — 9sin x have in the interval
0=xy=2q7

1) 1
(2) 2
3) 3
4) 4

26 How many values of A in the interval
0° =< A < 360° satisfy the equation 2sin’ A +
3sinA +1=0?

@ 1
(2) 0
3) 3
4) 4

27 In the interval 0° = A < 180°, which value of
x satisfies the equation 2cos’x — 1 = 1?

M 1 (3) 120°
(M " 4y 180°



